EARAROBREBRT —5 XN—ZXBISH—F

202246108248 (B) 70AstE18

K  Beosma~ssSE

=
15N

C17R U5R—K

\(9&1&1 n ‘I%EH?’JFQ] | & 1500 =

[AE%] 17%&:1,200,000 § ~ 237&:480,000 @ . 37&:300,000H  435:180,000 @ . 5 3&:120,000 M

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
1 4| T RRL— Ho4 ;ﬁélll’g%'s% 1:(40).2 7-66-5 | 40.0| - 3| 4an égg 5(%\%)
RIETPRAT BNFIVIARGY R NN
Py S © 8 4 | MER 1:40.4 4-3-5-6 | 40.3| — 6 412 | ML) (Rets)
20101 | Zy¥ak/IL 54.0 (3/4) o |8 U/b—yvT
RiA—yvVTI— B:J0HhYTvya /=Y Tr—I
] st 4 | HFRY 1:40.5 2-2-2-2 |41.2] - 1 486 | 1ERAER (#518)
3/5/5 | JrvhH—X 54.0 e) AXKEE ()
RIFVINANAN BESUTAPEYR ) | 44551
NHI L €3 ﬁ%ﬁz 1(:40.)5 1-1-1-1 | 412 — 4 | 501 %ﬁ?ﬁﬁﬁ)
. ZI= 5
RiALYITSwIE B:VILRT AR (-3) TEBRYUS
5 0 3 | FEEA 1:40.7 5-8-7-8 |40.2| - 8 | 49 SRR AT
Hh2 /R)VIL 56.0 (3/4) (1) |EAE
R:ZMOVIUI—Y B:OUI RN YURUKIS
F=IIUST gy # 5 T%t%éé,% 1(:40.)8 6-5-3-3 | 41.3| — 2 | 469 %g;’ﬁ (18)
= . 1/2 = ;
R:ALVISvIEl B:EReIFA—N (-6) e
ErTIL # 3 | THEs 1:6”)'2 8-7-8-7 [40.5| — | 5 | 503 %ggxg (%)
. 2
QIANIUFv—R BYFI—TIEL )| Rsngin
8l7|7 | RIVEUSYF— /50| A (1:41.5) 34-4-4 |48 — | 7 | 482 giﬂﬁﬁaﬁ)
: 11/2 EAE
RYPLSAN— B:YITTU—FT ) e F -2y kTP -1
@ 11— —BBIEfI
10—7+— 2,5,7,1,8,3,4,6
21—F— 2,5,1,7,3,4,6,8
30—7— 2,5,3,7,1,4,8,6
43—F— 2,5,3,7,4,1,6,8
o ILRE
B B 4 3B | [ 91K 1-4 630M B E 1-4 2,580 3EE 1-4-5 2,270
7B B 4 140 4-5 2504 =51 4-1 4,550 3EH 4-1-5 14,490
1 280M4 1-5 710
5 130

ABIC OV TRUTEREERRODDZE. THRIIZEL.



